8/6/2021 ClassMarker - Manage Test

ClassMarker/v/

Tests Edit Test D é))

Tests Groups Links

) Primary 4 - Term 4 Science (SCGS) -

‘ €4 Duplicate

‘ & Print ‘ ‘ i Delete

& Assign Test

Test Introduction
+ Add Introduction

63 Questions (74 Points) Question Bank: 19,950 Questions @
Test Questions 1 Test Assignment

Question 1 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
Booklet A (28 x 2 marks)
For each question from 1 to 28, four options are given. One of them is the correct answer.
Which one of the following is a living thing?
A)

v’ B)
C)
D)
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Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,306

Question 2
Which one of the following is not a source of heat?

A) The sun
B) Alighted bulb
C) A candle flame

v’ D) A woollen sweater

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,310

Question 3

Which one of the following properties is true for both air and a pen?

A) They have definite volume
B) They can be seen
¥' C) They take up space

D) They have definite shapes

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,319

https://www.classmarker.com/a/tests/test/?test_id=1638603&trk=edittest_inrow_edit

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

Primary 4 Science » Primary 4 Science (Term 4)

2 pts

2 pts

2/43


https://www.classmarker.com/a/tests/qb/manage/?test_id=1638603&question_id=25830306
https://www.classmarker.com/a/tests/qb/manage/?test_id=1638603&question_id=25830306&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1638603
https://www.classmarker.com/a/tests/qb/manage/?test_id=1638603&question_id=25830310
https://www.classmarker.com/a/tests/qb/manage/?test_id=1638603&question_id=25830310&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1638603
https://www.classmarker.com/a/tests/qb/manage/?test_id=1638603&question_id=25830319
https://www.classmarker.com/a/tests/qb/manage/?test_id=1638603&question_id=25830319&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1638603

8/6/2021 ClassMarker - Manage Test

Question 4 Primary 4 Science » Primary 4 Science (Term 4)

Which one of the animals shown below is not an insect?

A)
B)
v C)
D)
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,323
Question 5 Primary 4 Science » Primary 4 Science (Term 4)

A, B, C and D are the various stages in the life cyele of 8 mosqguito.

- 3

A B & o

Which af tha following comectly shows the life cycle of a mosquilo?
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Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,339
Qu estion 6 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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- The diagram shows a plant.
Which part, 1, 2, 3 or 4 is the stem?
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,346
Question 7
v A)
B)

1)

2)

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

In which one of the following will the two magnets push each other away?
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C)

D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,354
Question 8 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
Which one of the following is a source of light?

v A)

A campfire

B)
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An apple
C)
The moon
D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,360

Question 9

The diagram shows a clock hanging on a wall on & nail.

nail

clack

Iron s used to make nails because iron

Primary 4 Science » Primary 4 Science (Term 4)

A) is shint
B) is strong
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v
C) sinks in water

D) conducts heat well

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,365

Question 10 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Alvin wants to measure the temperature of hot water in a beaker.
Which one of the following diagrams shows the correct position of the thermometer when taking the

temperature reading?

A)

B)

C)
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v’ D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,379
Qu estion 11 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which of the following systems work together so that the whole body can receive oxygen?

A) circulatory and digestive system
B) mucular and digestive system
¥ C) circulatory and respiratory system

D) muscular and respiratory system
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,422

Question 12 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which one of the follwing graphs shows the changa in heighl as the seediing
grows bt an adult plant?

A) "
Height
{cm)
Number of weeks
B)
&
Height
(cm)
3
Number of weeks
v C)

Height
(cm)

Number of weeksr
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D)
&
Height
(cm)
Number of weeks

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,800

Question 13 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

What isfora the common properyipropartios of the objects shown below?

Girccary bag

A They ars light
B: They ara hard,
C: Thay are faxibhe.

A) Aonly
B) Bonly
C) AandBonly

v' D) Aand C only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,830,808
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Question 14

Wizn Juan placed a light =engar ina
the Gght sensor and recarded the results in the table below, She then repeabed
fhe axparimeant with thres torches, F, G and H,

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

Aark reom, She shone forch E al

obseryalions?

A) AandBonly

v' B) BandC only

C) AandConly
D) A,BandC

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15

https://www.classmarker.com/a/tests/test/?test_id=1638603&trk=edittest_inrow_edit

A Torch B s bigger than Torch H.
B: Torch 2k brghier than Torch G,
C: Toreh F and Torch H.are equally bright,

Multiple Choice
No

Tue 12th Jan 2021
N/A

25,830,817

Torch lntln of In ropmi whari . - Iritensity. ﬂﬂﬂitlmmﬂ'ﬂﬁ#
! ﬁﬁﬁ&&i':" H__ .. Abroh was switc! witehed of - -
- P A !L-Ei e R
E B 1]
F 1] =y 45
G [1] N
H 0 - —
Which one of the following siatemnents corecty  axplaine Wen - Juans
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Study the flow chart below.

Start

Yes

Dioes it maka is
o food?

What conclusions can be made from the information given?

A: P is a plant.

B: d is a mammal.

C: R may be a fungi.

D: S is not a living thing.

A) AandBonly
B) B and C only
C) A,BandD only

v' D) AB,CandD

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,821
Question 16 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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. Linda hed four magnats, [, E, F and G. To compars the strength of the magnels,
she brought each of the magnets naar a pile of pins,

The tabls below shiws the numbar of pna attracled by tha magnets, D, E, F and
@3, from wvanous distances.

Iannmt | Distance batween magnet and pins |~ mur%_r
D . ¥
E . = H
: 10 :
[ 3 2 —

Which one of the fclawing staterents ls delindely comect?

A) Magnet D is as strong as magnet E
B) Magnet F is the strongest magnet
v C) Magnet G is stronger than magnet E

D) Magnet D is weaker than magnet G

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,827
Question 17 Primary 4 Science » Primary 4 Science (Term 4)

Four similar spoons were uged 1o hdld an obdect each as shown in the diagram

below.
—® —e —e —w
Substance A SubstanceB —  SubstancaC Substance D

iWhich one of the following substances is most likely not a solid?

A) Substance A
B) Substance B
C) Substance C

v’ D) Substance D

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,830,831
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Question 18 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Muthu conducted an experiment. He placed two idenfical homemade biscliits on
fhe table, He sprinkled some water an ana of the biscuits.

bisewit with no

biscuit sprinkied :
with waler wigher sprinkiad

Thiee days lter, Muthu noticed that the piece of biscult that was sprinkled with
water had mouid on it. The piece of biscult with no water sprinkled on it did not
hae any mould.

What can Muthu conchsde from the experiment?

A) Mould can make their own food
v' B) Mould grow better in damp places
C) Mould needs sunlight, water and air to survive

D) Living things can reproduce faster than non-living things

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,835
Question 19 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which of the following objects most likely use magnets to work?

A: Compass

B: Refrigerator

C: Electric Iron

D: Electric kettle

E: Scrap iron crane

A) A, BandConly
v B) A, BandE only

C) B, CandDonly

D) B, CandE only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,830,839
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Question 20 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

What will happen 1o the iron rod i il s stroked thirty times by each of the two
magnedsy

— %_.a-lrnn reach

Tl iron rod will

¥" A) not become a magnet
B) become a magnet with two different poles
C) become a magnet with two north-seeking poles

D) become a magnet with two south-seeking poles

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,843
Qu estion 21 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

When Ginny reached home on & hal day, she realsed that the Bes on her oo in
ner funere had Buckled.

Tiles buckied

The tiles buckied bacause tha

A) tiles contracted too much
B) gaps between the tiles were too big
¥ C) rates of expansion between the tiles were different

D) tiles were of different shapes
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,895
Question 22 Primary 4 Science » Primary 4 Science (Term 4)

lasac wanted to find out which maleriale allowed Gight to pass through using the
foflowing sel-up as shown bekow.

sCr=En

material
d spodlight

Which of the following variables should he keap the same in order to conduct a
fair test?

A Type of malerial
B Thickness of matesial
G Distance babseen the mabenal and he Scresn

A) Bonly
B) AandB only
C) AandConly

¥v' D) Band Conly

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,903
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¢ |1 can ba coiled up eesily
o H will mod weigh her down.
& owill mod Break il she falls.

& cimber made a Bl of the type of rope she nesds

ClassMarker - Manage Test

Dynamic Fope Company produces ropes for all puposes.

The tablg balow shows 4 types of ropes thet the company produces and 1heir

propertias.
T Fope Delta
Bro XA ApEx Beta Kapga
T kxibility High Low Mdium Low
Waight ~ Low hedivirm Lo Lo
| Strength High High low |  High

Which rope should the climber purchase?

v A) Apex
B) Beta
C) Delta

D) Kappa

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,907

Primary 4 Science » Primary 4 Science (Term 4)

Question 24

i, Ronakic sat up an experimerd using simdar balleons, basins and conical flasks
a5 shown baloer

J00mi of

Setup A

Aftar five minutes, the balloon in setup B was more inflated than the baltoon in
sehup A

Which ong of the iowing conclusions could Ronalde maks from his
expariment’
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A) Colder water was used in setup A than in setup B

v B) Water in Setup B contained more heat than the water in setup A

C) The conical flask in setup A lost more heat than the one in setup B

D) The conical flask in setup B conducted heat faster than the one in setup A

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,916

Question 25 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

" Which of the following torch positions would create: an oval shadow of the 20-
cant coin on the scresn?

20-cer| cain

v A)

B)

C)
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D)
sCreen
coin
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,830,960
Qu estion 26 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Jasmy wanted to find owt if the position of the torch and The pen would sffect the
kength of the shadow cast on the soreen, She madked 8 points on the tabk In
front of the screen and placed a torgh at X and a pen of ¥, a2 shown in the
diagram below.

|~ Sicrean

Pen il 1
T”‘Tﬂ'\-r \ﬁ’_..-"‘ 12cm

When she switched on the torch, she observed a 12cm long shadow of the pen
casl on fhe soreen, Jasmy then placed the torch and the pen af different
positions and recerded her cbservations in tha table as shown below.

Which of the foliowing could she have abserved?
‘Position'of torch | Position of pan> hw@"ﬁ%‘}ﬂw':ﬂ

)| S S——— B I

B 10
) ® ] 10
® :: . & |

B

A) 1
B) 2
c) 3

D) 4

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,830,963

Qu estion 27 Primary 4 Science » Primary 4 Science (Term 4)

.Iris put @ beaker of water with ice cubes in an airdight box as shown in the

diagram befow.
. )
:w.r‘\‘ —ar—l‘lgl‘l'l bcrat
beaker: | —ice
wiabar

Which ona of the following stalements & cormect about the alr in the bax?
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A) The air will gain heat and expand

v B) The air will lose heat and become cooler
C) The air will gain heat and become warmer

D) Coldness is transferred from the ice to the air

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,974
Qu estion 28 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

(:ina loWifed an smplEeup and o =TSN balkaito.a casin of water untfil the cup
tauchad the botom of the basn She obsorved thal the water lovel nside the
cup 'WaE not the same as the water level in the-basin, The bail stll foated on the

water a5 shown in diagram bedlow.

basin with water

What could be the main reason for the ditfference in the water lewel ingide and
outside the cup?

v" A) The air trapped in the cup occupied space
B) The ball pushed the water out from the cup
C) The air trapped in the cup dissolved in the water

D) The ball in the cup occupied space

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,830,985
Qu estion 29 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it
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was designed in such a way that it requires manual assistance.

. Shedy the diagram below.

Circle what happened to the amount of food in the bowl after a few days.

A) increase
¥ B) decrease

C) remain the same

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: Tue 12th Jan 2021

QID#: 25,831,001
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Based on the diagram above, name one substance this animals need so the it can remain alive.

Accepted answers:

v food

Question Type: Free Text

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,006
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Classify he following animals according fo the number of stages In thei e

[2]

LK
A

beath duck

e e e o

Four stages

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,831,011

Correctly answered feedback

Three stages: Frog, Grasshopper, Duck
Four stages: Beetle

Incorrectly answered feedback

Three stages: Frog, Grasshopper, Duck
Four stages: Beetle

Question 32

The diagram shows parl of the human digestive system

Primary 4 Science » Primary 4 Science (Term 4)

Tick one box to show where the stomach is.

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,831,034
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Correctly answered feedback

/

Incorrectly answered feedback

/

Question 33

v A) small intestine

B) large intestine

C) gullet

D) mouth
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,038
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Food from the stomach is next passed on to the
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Question 34 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Name any two parts of the system where digestive juices are produced

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,042

Correctly answered feedback

Mouth and stomach/small intestine

Incorrectly answered feedback
Mouth and stomach/small intestine

Qu estion 35 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
. The diagram below shows two plants.

plant A plant B

Part

What is one difference between the stem of plant A and the stem of plant B7
The stem of plant A is than tha slam of the plant B.

Accepted answers:

v taller

Question Type: Free Text
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Question 36

The leaves help both plants make in the light.

Accepted answers:

v food

Question Type: Free Text

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,049

Question 37

When part "Y" is removed, the plant died. Explain

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,054

Correctly answered feedback
The plant has no root to takin in

Incorrectly answered feedback
The plant has no root to takin in

Question 38
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Yan Hul piaeed a metal rod and a plastic rod into a tank of bodng waler as
shown below, Equal amounts of wax wene put on both rods.

= ] v

bodling water —

What would she cbsarve and why? (€]
The wax on the metal rod melted fhan the wan: on the plastic

roMd as metal s a conducior of heat,

Accepted answers:
v faster, better
v faster,better
v’ faster better

v’ faster ,better

Question Type: Free Text

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,061
Question 39 Primary 4 Science » Primary 4 Science (Term 4)

Yan Hui wants her ice cream to remain frozen for as Long as possible. Should she use a metal or
plastic container to keep her ice cream in?
Explain your answer.

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,068

Correctly answered feedback

Plastic is a poorer conductor of heat than metal. Thus, ice cream gains heat from the surroundings
slower

Incorrectly answered feedback

Plastic is a poorer conductor of heat than metal. Thus, ice cream gains heat from the surroundings
slower
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Question 40 Primary 4 Science » Primary 4 Science (Term 4)

Ahmad = a plate of mes rebus in 8 wam place al the kiichen Abmsd nobiced
hat he plite of mes rebus locked the same bul gave off a bad sour smell the
neod davy. If had fumed bad,

Which group of iving things caused the mes rebus b turm bad? (1]

Accepted answers:

decomposers

Question Type: Free Text

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,073

Question 41 Primary 4 Science » Primary 4 Science (Term 4)

What would happen if Ahmad had put the plate of mee rebus in the refrigerator instead? Explain your
answer

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,080

Correctly answered feedback
Mee Rebus will not turn sour and decomposers need warmth to grow but the fridge is too cold

Incorrectly answered feedback
Mee Rebus will not turn sour and decomposers need warmth to grow but the fridge is too cold

Qu estion 42 Primary 4 Science » Primary 4 Science (Term 4)
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The flow chart balow shows the cheracteristics of Plants &, B, C and 0.

as
[€ b0 Comitfoatr |—
s
(o]
Felicia obsanied a living thing, X, and recorded her sbaarvalions in her notabook.

o X graws in water,
= X does not produce flowars

aj  Which plant, & B, C or O is X st lkely b be? i1
v A) A

B) B
C) C

D) D

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,087
Question 43 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Falicia found anaother plant, ¥, growing in the school garden as shown balow.

b) Which plant, A, B, & or D can Plant Y be grouped with?

A) A
B) B
c) C
D) D
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,092

Qu estion 44 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Based on the flow chart above, explain your answer in (b)

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,097

Correctly answered feedback
Y produces flowers, is a water plant and can float on water.

Incorrectly answered feedback
Y produces flowers, is a water plant and can float on water.

Question 45 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Mary wes given four funnels, labelled P, Q. R and 5. She was askad 1o find oul
which ene of these funnels woukd allow waler io flow through il most quickly.
She poured some waler into each furnal using the following sel-ups and
staried the stop watch o find oul how long the waler ook to flow inte each

k.
P Q
glass tubing glass lubing
— | " T
Setup 1 Satup 2
R g
glass tubing glass tubing
flasks
Satup 3 Setup 4

Mary's teacher told her to use the glass tubing of the same size for & selups so thal
# woulkd be o fair kst Why is this so? 1]

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,108

Correctly answered feedback

The width of the glass tubing can affect the amount of air in the flask that escape through the
funnel.

Incorrectly answered feedback

The width of the glass tubing can affect the amount of air in the flask that escape through the
funnel.

Question 46 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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. Jason made a hole on the fop of a milk can so that he can pour out Bw mik

L

hole

-
EA

Jasan tried pouring 1he milk out but found that & fowed out very skady,

i} ‘Without enlarging the hole or opaning the can, whal coulkl Jason do so that the
milk could flow cut faster? (1l

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,111

Correctly answered feedback

Make an extra hole

Incorrectly answered feedback

Make an extra hole

Question 47 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Explain how the suggestion in (a) would allow the milk to flow out more easily.

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A

QID#: 25,831,116

Correctly answered feedback
The extra hole will allow air to enter the can and push the milk out

Incorrectly answered feedback
The extra hole will allow air to enter the can and push the milk out

Question 48 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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bra Lae wanted to find out which one of the 4 materials, A, B, C or [ i able 1o
absorh the most amounl of water. Sha placed the 4 malerals ower 4 waler
troughs respectively and poured 50ml of water onio sach of the matarialks. The
diagrasms balow show the amount of water thal was able o pass theough the

matertals after 30 minutes.
Motaisl D
15ml
Arangs the malerials accordng to how well they absorb water,
Write dowr A, B, C and [ in the basas balow [2]
- Match

the options below:
Clue Match
B Most absorbent
D More absorbent
C Less absorbent
A Least absorbent

Question Type: Matching

Grade style: Full points if all answers are correct

Shuffle Mode: Shuffle Matches Only

Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,177
Qu estion 49 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

b] Based on your angwer in (o), which malerial, A, B, C or 0, is most auitable fo
make part J and K? Give & mason for your answer [
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Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,185

Correctly answered feedback

4 =B ltis able to absarh the most water. (must show campar
j : anson
with ‘most) ¥

K = A, It is waterprooff cannot absorb any water,

Incorrectly answered feedback

J =B . ltis able to absarb the most water (must show compari

. . ArS0n
with ‘most) ¥
K = A, Itis waterprooff cannot absorb ahy waler,

Question 50 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

(in & beach one night, Rahim obserad a turtie moving on (he sand.

aky

war=d

wWhich sed of arrows, P oor O, correctly shows how the turtle could see the moon?
[1

v A P

B) Q

Question Type: True False

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,190
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Question 51
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Drawe ancdher set of arrows o show how the e can see fhe grass m e
moonlight in the diagram below. i)

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,242

Correctly answered feedback

Incorrectly answered feedback

Question 52 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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ghiown in the diagram balow.
: e
Wirs &
\ 1
cotton
string SUR—
4 hours |ater
r--_.'pauhltcf_‘__

marblea [

Jay tied a packet of marbles on Wire A on a hot day and observed it every hour.
After four hours, he observed that the packet ef marbies touched [he ground as

Wire A

ground. What was Jay trying to find out?

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,251

Correctly answered feedback
To find out if wire A or B expand more upon heating

Incorrectly answered feedback
To find out if wire A or B expand more upon heating

Question 53

Tick two variables that do not affect the results of the experiment.

A) length of wire
B) mass of marbles
C) thickness of wire

v D) colour of marbles

v" E) colour of the wooden poles

Question Type: Multiple Response

Randomize Answers: No

Grade style: Full points if all answers are correct
Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,309
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The next day, he repeated the experiment by replacing Wire A with Wire B
undar the same conditions. However, the pecket of marbles did not touch the

(1
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Question 54

Which wire, A or B should Jay used to make an outdoor clothes line?

A) A
v B) B

Question Type: True False

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,316
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Question 55

The disgram befow shows a light sensor which = used to cound the numbar of
pecple andering an exhib8ion hail,

ENTRANCE

X Al

Exhibition ol Exdisiion Hal

Fght soiroe 1'h-h'.l:lrll-lcll'
The space betwaen the light source snd sansor only aliows one person to ener the

exhibilion hall aach fims.

Whan ha persth enters the axisbilion hall, ha light is Backed. The madings af the
sersor are recarded in fthe graoh beloee.

= LU

Dte m & T MO t30 Tire (5
a)  How many peaple have gone into the sahibition hall In the Brsl 80 seconds? [1]

Accepted answers:
v 3
v 3people

v'3 people

Question Type: Free Text
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Date Added: Tue 12th Jan 2021

Last Modified: N/A

QID#: 25,831,328

Question 56 Primary 4 Science » Primary 4 Science (Term 4)

if the sensor and light sourced moved to part X and part Y, the sensor cannot accurately record the
number of people entering the exhibition hall. Why?

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,392

Correctly answered feedback
- N ame i Y

) e
Many people are too short to black the light of he sensor,

OR The senscrs are too high for its lights to be blocked by people.
,:ﬂl comparison befwean the height of sensor and pecple must be
mdicated and the concept on light being blocked must be steted as
reason why sansor won T work,

Incorrectly answered feedback

L il a1

Many people are too short to hmthe light of the Sansor,

OR The senscrs are too high for its lights to be blocked by people.
.-:ﬁ comparison bafwaan the height of sensor and pecple must be
ndicated and the concept on light being blocked must be stated as

resson why sansor won T work,

Qu estion 57 Primary 4 Science » Primary 4 Science (Term 4)

Which property of light allows this light sensor to work?

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,396

Correctly answered feedback
Light travels in a straight line

Incorrectly answered feedback

Light travels in a straight line

Question 58 Primary 4 Science » Primary 4 Science (Term 4)
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1 anmqumﬂmqm&mﬂumgmm!,Anrdﬂ,mdnddﬁamﬂ
materisla, A and B, respectively. She filed both cups wilh the sarme amount af
waler B @ L:rnpumiurnnf:ﬁ'ﬂuﬁﬁmmﬁmmawhirhamﬂhmwen

at B0°C &8 shown in the diagram below,

Mrs Forg then used 2 datalogger [0 measure and recorded the temperabure of

wabar ingige cups A and B far fan mnules. The results are shown bEise.

R | Temperature of waler inside the cup
Cap. b min 5 min 10 min

n P WC 50°C

8 25°C 35°C 750

a) \Which mderial. A of B, s @ betier conductor of heal? Explain your Snswer

uging the resuls.

Question Type:
Date Added:
Last Modified:
QID#:

Essay

Tue 12th Jan 2021

N/A
25,831,407

Correctly answered feedback

(1

Incorrectly answered feedback

Question

59

B. B is a better conductor of heal because fap water/ walsr in the

cup geined heat faster 1o réach a higher temperature at the and of
the experimant.

https://www.classmarker.com/a/tests/test/?test_id=1638603&trk=edittest_inrow_edit

B. B is a better conductor of heat because tap water/ walsr in the
cup gained heat faster to réach a higher temperature at the end of
the experimant.
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B} In the diagram below, draw an arvew & shaw low heal is bansiermed beiwesn

the wader in he basin and the waer in tha cup, ]
Cupk 1

[Mubgcial &) ————— Heat Ser=ar

- \

I 4
Tap Walnt 1 25°C Hal Walsr al §0°C : -

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,421

Correctly answered feedback

T A
(*sderial A
Hzal sgazar
|
Tap ““'"{:75*'; rﬁl wost 54 5070

Incorrectly answered feedback

Tan i
(i sterial Al
Heal spazar
|
Top ""“'“{:'-"F*'-: r‘l‘;l werar i 5070
Question 60 Primary 4 Science » Primary 4 Science (Term 4)

When will the heat transfer between the hot water int he basin and the water in the cup stop?

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,429

Correctly answered feedback
When both tap water and hot water in basin reach the same temperature.

https://www.classmarker.com/a/tests/test/?test_id=1638603&trk=edittest_inrow_edit
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Incorrectly answered feedback
When both tap water and hot water in basin reach the same temperature.

Question 61 Primary 4 Science » Primary 4 Science (Term 4)

in tha diagram belew. Lynn kangs B wooden pyramad with o sguare base
diracily balow & amp which is S2ed on the osilirg

lamp

ground

4] [Dvaw how the shackw would lock ke on the ground in the o befo. [

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Tue 12th Jan 2021
Last Modified: N/A
QID#: 25,831,483

Correctly answered feedback

a) square

Incorrectly answered feedback

a) square

Question 62 Primary 4 Science » Primary 4 Science (Term 4)

To make a bigger shadow on the ground, what can Lynn do to the string?

A) cut the string
B) lengtheniit

C) shorten it

https://www.classmarker.com/a/tests/test/?test_id=1638603&trk=edittest_inrow_edit
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

v" A) bigger
B) smaller

C) same as (a)

Question Type:

Date Added:
Last Modified:
QID#:

Question 63

Randomize Answers:

Multiple Choice
No

Tue 12th Jan 2021
N/A

25,831,489

Muiltiple Choice
No

Tue 12th Jan 2021
N/A

25,831,501
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When the pyramid is turned upside down, its distance from the ground remains the same as in (a). Will
its shadow be bigger, smaller or the same as in (a)?

1 pt
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